- ELIT BERJER MONTAJ TALIMATI —————
EBLIT BERGERE ASSEMBLY INSTRUCTIONS —

A B
Aksesuar E
Accessory AYAK CIVATA YDB NO6x35

FoOT BOLT YDE M@x35

Miktar- Quantity| 4 4




ELIT - IKILI SANDIKLI MONTAJ TALIMATI
ELIT *~ DUAL-CRATE ASSEMBLY INSTRUCTIONS

A E 3
Aksesuar-
& g
Accessory
AYAK BAGLANTI BAGL AYAK CIVATA YDB M0x35 |CIVATA YDB Mix45 | GIZLL AYAK 11bmm |CIVATA YKB W6x60

FOOT CONWECTING METAL} FOOT BOLT YDB MEx36 [BOLT YDB M5x46 |HIDDEN FEET 116mm|BOLT YKB Néxd()

Miktar- Quantity 4 4 8 4 1 2




ELIT UCLT SANDIKLI MONTAJ TALIMATI
ELIT TRIPLE-CRATE ASSEMBLY INSTRUCTIONS

A B Cc D KA
Aksesuar- A g g
AYAK
‘00T

SSSSSS ™
Y AYAK BAGLANTI SACI CIVATA YDB HMOx33 | CIVATA YDE M6x45 | OIZL] AYAK IGmm [CIVATA YKB Maxen|
FOOT CORNECTING METAL|F HOLT YDH Mdxd5 |BOLT YOI M@x4G6 |HIDDEN FEET 116mm{H0LT YKB K8x&0

Miklat- Quaniity 4 4 8 4 2 2




ELIT UCLU YATAKLI MONTAJ TALIMATI
ELIT TRIPLE-BED ASSEMBLY INSTRUCTIONS

B
Aksesuar-
Accessory AYAK BAGLANTI BACL AYAK CIVATA YDB MOxd6 |CIVATA YDB M8xdS | GIZLI AYAK 65mm |CIVATA YKB MOx00
TOOT CONNEGCTING MmTAL| FoOT BOLT YOB M6x36  |HOLT YDD MBx45 | HIDDEN FEET 8fmm|BOLT YRE M8x60

Miltar- Quantity 4 4 8 4 2 2




